SECOND YEAR HIGHER SECONDARY EXAMINATION 2023
BIOLOGY PART A- BOTANY SCORE: 30
TIME :1 HOUR

I.Answer any three questions from 1 to 5 each carries one mark Bx1=3)

1. The most resistant organic material in exine ofpollengrain is ........cccceceeveeveersuennene
2l EEMBHSINL! 0f)deR08 M132212{101E8IM af)Ba O EHFAUITD BHIBNIMIE: al303MOREM

2. First restriction endonuclease enzyme is ..............
@RYBIROV” HOHMEOMIW HONYISHI af)MBEULIM é%ﬁq»m)“ af)MBOOAVO BIYE ...veerrnnenee

3. Expand PCR
alnl@Ryoleag eI @alo af)§@ e

4. The method used for resisting nematode infection in plants
auaveasglod M1n0e®es @)®16EIWIBEHINSS MG af®”

5. Which is the first trophic level in a food chain?
B0 BRYnOI0UYoLILIVNSLI BRYBLHTIM GSIable:MElo aB® ?

I1. Answer any 9 question from 6 to 16. Each carries 2 score 9x2=18)

6. Observe the equation given below
2JInS ®MMIB1HSAN VAN o MR1HH]HBH

NPP = GPP-R
a) What does NPP & GPP stands for
NPP, GPP a1 agalom ayafla {iesamn

b) Define secondary productivity
B 9@ aldBMARHUAD M1BQ2llHBH:

7. We can see many embryos in the seeds of some plants. What is this phenomenon. Give two
examples.
afler rvavyeeEgled ol &8s BaN103 GBSO @3 (§6Mo 326N |FaM. af)aMIEM” D (@J]E@IMVL?

Q6Ng OBINOVMEBBUD af) D

8. Explain any two mechanisms existing in plants to prevent self pollination.
NVJaIEIWEMo MSQM@IMEAIME] TVAVYERSIT H0eMO SN BN AT HUB  aBO@LIINIEM

9. Energy pyramid is always upright. What is the reason?
DDA o NEA1W’ 0g)2NWEa g0 MOIBIN@IW]BIHE30. HOVEMOAID ?

10. EcoRI is a restriction enzyme. What does E,co,R,I denote :
EcoRI a@ ooayleumd agymdeeavadem’. E,co,R,I aalom ayafloNesan?

11. Match the following

A B

Selectable marker DNA Staining

Etidium bromide Stirring type

Bioreactor DNA Replication

Ori amp"®

AIVOLIRMINT 2080HHA@ Wlag)Mag) AUBHQ@MI6E"
af) @ IWlWo GEYIOHHBWW” adloles”  9oSql
MNICWIOIWIBA@ Wl )@ af) OO0 EHNU

&a01 ag) af)o afl ®



12. Many countries encourage the cultivation of genetically modified crops. Write four advantages
of GM plants.

GM aflgs:86s 9®al08Mo ofloflw 023368308 GeJo@Iaslaflasmome’. GM ailgagos moe) amgeEBud
) §QDQ

13. Write any two direct methods used for introducing rDNA into the host

oo IDNA o coy@lomnew Rlolwlcelos csm«ﬂ% HSOMIA1SIM88 06Ng ATD1BHUB af) §D B>

14. Observe the table given below. Analyse the effect on species A & species B and identify the
name of interaction.

Species A Species B Name of Interaction
aflaflay” A marlalay” B alOIYEIYY VD Jo

+ 0 —

- o

+ e A ——

15. Adenosine deaminase (ADA) is a hereditary disease; where ADA is crucial for the functioning
immune system. Explain how its deficiency can be treated?
ADA GRal0§00]® 8@ old0MI0yGAINMEM . @m%mﬂgﬂ elnom @eaimnwlcd ADA @es

@Yl 00 l® af)sBBOM aflla1G3MV1En0?

16. Given below are some steps in the process of decomposition. Arrange them in correct order.
Fragmentation Humification Mineralisation Leaching Catabolism
213eMO O3 allel °eISEBRBIIM” ®IOY MINIVISBIN®. BRAINY NAIVWIW (HAONITE af) D

ITI. Answer any three questions from 17 to 20. Each carries 3 scores. (3x3=09)
17. Given below are some of the characteristic features of flowers based on their mode of
pollination. Classify the given characters based on the mode of pollinating agents.
Polengrains light weight and nonsticky
Nector present
Large conspecious flowers
Well exposed stamens
Feathery stigma
Pollen-grains covered by mucilaginous covering
0dBNBOS alEIVEMOMIM MVa0IW]EBAM  (JEDIHMBHBIEM” 2JAIOS G2l3OD]BIHBM@” GRAIYOS
@JEDIBHMBHUB BRADIVO] 2] DG R1H63D:
alRIWEGOMENUY BIV0 GOS80  B351allS1HHIHD®AIM”
olulnce
Qlelw oyanud
@OMIBIH3aN BHAVMo
BAUL]HUd GalINLIYIGIHBMM alRINeMaVOLIo

A 100N BOMOEH UY mggm(gndgg@om)”

18. Name the process that affect population density in a habitat. Name the process that help to
increase population density.
8@ GRANIVOMINLI ZMAVIBMHW MVPWIMIHSBMN MILJPLISHEBBBHS Gald af) D .

2NOIVIM® AUBRUISSMDIM” TVa0IWVIHB0D ALISHEBBUY AR ?

19. (a)Which is the company that prepared artificial insulin by rDNA Technology?

( b) Write the steps in this process.
(a) IDNA 9a16@o0af’ §®la madayelad 9@ alodlafla &HmIM] ag®?



(b) admyeNad omansmomlend alalw ~eISEBRUE nGOMES?

20

Population density (N)—p

Time (t) —»

(a) Identify the growth model a.b
(b) Describe growth model with equations
(c) What does k denote?

(a) 2N@o™e! WO cmWa3 a,b @@ sj01Qe
(b) cwom” emoaw®@d a,b YOS MR LEBBUD gD B>

(c) k apazilom ayailaflesamn?



